A AL & g =
= ES i3 = F

E E3EEITH3235 0% B B|RREERA)IE
£ HRTmEERIL/ E3ERGKEEHELISE
% Fr|EAUTE RET AR A B 1T H MBS M4FE1A31B8 £T
¥ ¥ X HRRIE AR R st — g AL
B A B B{SF3E9A16E  9E504 % 7| [BA) BUHEFT BHS 2HHRESD
BT % BERESNENRESR 3 = AN ENRERE
yEE R ¥8,064,000|5 > £5% (a) 0.99964885
REDE R ¥7,289,000|5 v 4 A %% () 100216175

A Al & 2
No. (SRS $F1[E 2 £ 3ME i 7
1] (B BRER ¥7,297,000 EAL
2| (B) MBEF—3I—1F5 ¥7,300,000
3| (B) Wof&Ess ¥7,320,000
41 (B) y)—rI% ¥7,671,000
5| F4RRAR (B) ¥7,319,000
6| (B) lE=&EH ¥7,306,000
7 |rxEm 8 ¥7,280,000 St
8 2T (B) ¥7,318,000
9| (B) PRI ¥7,325,000
10| (%) BeBER ¥8,000,000
11
12
13
14
15
16
17
18
19
20




